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1. ~ ~ ml' ~ f.rfmJ ~ +2 

51fafajJ.Gl ~ m7TJ ? 

(a) ~, -~3fu:-~~'fficl 

(b) ~ , cl Fl-a fcicfi 31tt ~ ~ 'fficT 

(c) ~, ~3fu:~~~ 

(d) ~, cll,(-dfcicfi 31tt ~ ~ ~ 

~ ~ 200 _m ~ ~ ~ ~ i:m cfiT ~ 
~ 30 s -ij w:l" 'cfi\<11 t I 3 ~ 31tt 45 ~ , 

c€t ~ ~ ~ ~ m7TT ? 

(a) 50 m · 

(b) 100m 

(c) 200 m 

(d) 236 m 

6. G1' ~* ~ ~ ~(>fcfi4 ~ ~ ~ ~ mm 
2. cfi~ ~ ~ ~ ' -ll$shlq 31tt ffl c€t 

~ cfiT ~ ~ ~ t ? 

(a) ~ < -ll$sif>lq < ffl 

(b) ffl < -l1$shlq < ~ 

(c) ~ < ffl < -ll$shlq 

(d) -ll$sif>lq < ~ < ffl 

(a) ~cfilfm~t I 
(b) qf{c1fifa ~ ~ I 

7. 

~ ~ -~ ~ ~ cfiT ~cf;\~~ 3fu: 
~ ~ -~ c€t ~ ~ ~ cf;\ ~ ~ ? 

<a) ~~~wrr 
(b) ~~m~ 
(c) ~3lltTTm~ 
(d ) ~4~~~~~ 

1 l1IB ~ ~ ~ ~ -ij ~ ~Tcffi1'51.:i ~ ~ 
. lTTffi c:la~~i? 

(a) 1 

(b) 3 

(c) 6 

(d) 12 

(c) 

(d) 

-~~~ti 
d-~~t I 

s. Rl--lR-iftAa -ij ~ ~-m ~ ~Tiffi1cfi<o1 ~ 
cfiT~~t? 

4. Rl--lR-1 ftAa if ~ ~-m ~ ~ ~ ~ t ? 

(a) ~ ~ ~ ~ cfiT ~ ~ -ij 
~ti 

'(b) ~ ~ (~) ~-1Mlcfil4 wr ~ 
~~cfifll'cfi\<1lt I 

(c) mu ~ 'cfi8 'clTRT ~ q-a lcfiR ~ ~ 

-~ ~ 1Mlcfil4 ~ ~ ~ WT3TT -ij 
9

• 

m7TJ I 

(d) ~ i7T ~ ~-00 q@l cm: ~1q1~a : ~ 

~~ cfil fclg~;q 'cm: mID t I 
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(a) ~~-(f'cfi~W:lfcRg.fcfiT~~ 
~t 

(b ) ~ ~ tfcti(l$S ~ ~ ~ cfiT 
~1~4q ~ ~ ~ ~ ~ ';jj"@l 

t-a)~~~~~t 

(c) ~ ~ ~ ~3TT ~ ~-~ ~ ~ 
mIDt 

(d) ~~~~-~~~w"Rftt 
*~ ~ ~,q,~a : ~ 1TTlIT ~ t ? 

(a) ~-ij 

(b ) ~ -ij 

(c) ~ ~ iq;-ij 

(d) lfRq ~-ij 
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1. 

2. 

3. 

4. 

If the magnification produced by a lens is +2, 5. 
then the image is : 

(a) erect, virtual and smaller than the 

object. 

(b) inverted, real and smaller than the 

object. 

(c) erect, virtual and larger than the object. 

(d) inverted, real and larger than the object. 

What is the correct sequence of resistivity of 

silver, nichrome and glass at room 

temperature ? 

(a) Silver < Nichrome < Glass 

(b) Glass< Nichrome< Silver 

(c) Silver < Glass < Nichrome 

(d) Nichrome < Silver < Glass 

At the time of short-circuit, the current in the 

circuit: 

(a) reduces substantially. 

(b) does not change. 

(c) increases heavily. 

(d) keeps on fluctuating. 

Which one of the following statements is not 
correct? 

(a) An electric motor converts electrical 

energy into mechanical energy. 

(b) An electric generator works on the 

principle of electromagnetic induction. 

6. 

7. 

8. 

(c) The magnetic field at the centre of a long 9. 

circular coil carrying current will be 

. parallel straight lines. 

(d) A wire with a green insulation is usually 

the live wire of an electric supply. 

GHSA-8-GNL ( 3-A) 

A boy completes one round of a circular track 

of diameter 200 m in 30 s. What will be the 

displacement at the end of 3 minutes and 

45 seconds? 

(a) 50m 

(b) 100m 

(c) 200m 

(d) 236m 

What happens to the gravitational force 
betwe(;ln two objects if the mass of one object is 
doubled and the distance between them is also 
doubled? 

(a) The force would remain the same 

(b) The force would .be doubled 

(c) The force would be halved 

(d) The force would increase by a factor of 4 

The number of moles of oxygen gas used in the 
complete combustion of 1 mole of glucose is : 

(a) 1 

(b) 3 

(c) 6 

(d) 12 

Which one of the following is not an example 
of an oxidation reaction ? 

(a) The taste of butter changes if left for a 
longer period 

(b) A white substance is formed when an 
aqueous solution of barium chloride is 
mixed with sodium sulphate solution 

(c) A reddish-brown powder gets coated on 
articles made of iron 

(d) Wine gets sour with time 

Methanoic acid is normally found in : 

(a) muscles 

(b) urine 

(c) ant stings 

(d) human brain 
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io. 104 g ~@;qtj ~ -# 'He' ~ lTim ~ ~ q=;q:r 

weft t? 
(a) 52 
(b ) 26 
(c) 13 

(d) 6·5 

11. Ql$~
1
ichlaf-1 ~ ~ ~, ~ ~ .~ 

cf>@~~~ -cftm ~~'al~~ t 
fen~: 
(a) ~ Ql$~lchlaf-1l ~ ~ t I 

(b ) ~ Ql$~chlaf-1l ~ ~ t I 

(c) ~~~-~~t I 
(d) Tfiffi t I 

12. ~1$#1l~cru.:i # ~ ~ ~ ~ ~ ~ 
~weftt? 
(a) ~ : 9~0 

(b ) ~:18~3 

(c) ~ : 18~0 

(d) ~ : 9'~3 

13. · ~ -~m 'chT ~ # ~ ~ t , a'ijf 

f.l1-.1Rif@a ij ~ 'cfit.f-m ~ 'ch~ ~ t ? 

(a) ~ amffl ~lcffil$s ~ ~ I 

(b) ~ ~ 3ilcffil$S ~ ~ I 

(c) ~ ~ 3ilcffil$s ~ ~ I 

(d) ~ Ql$~1cffil$S ~ ~ ~ I 

14. 3i13,c:i~1cna: ~qia~a ~ ~ ~ # f.l1-.1Rif@a 
#~~-m~~~ ~t? 
(a) ~ acn.flcn # ~ 'Zifiq ~ ';:;ft;, 'chT ~ 

fcfi.TT~t~~~~'Zifiq~ 
cfil~lchl # 3ld'fur fcf;cn ~ t I . 

15. 

16. 

~~,~~~cfiR1JT~~~ -

:J& ~ Ul~.Jct) cf;T cfiT1IB 3ffiR ~ W ~ 
t 1 ~ lfll@ # f.l1-.1Rif@a # ~ ~-m ~ 

~W1TT? 
(a) ~~ 

(b) ~~ 

(c) ~~ 

(d) ~~ 

f.l1-.1Rif@a # ~ ~-m ~ ~, cfi'1~1cn1 cfiffi 

~G!"R#~t? 

(a) ~ iHj~I~ ~~weft t I 

(b) ~~~~~~~t I 

(c) ~ ~ ~ t ~ cfil~lchl 'chT ~ ~ 
cfiT qf{!.lQUI ~ ~ ~ t I 

(d) ~ ~T~;:;1-1 ~ cfil'iR ~dilcffil$s ~ 

ilm cfiT fcfmur ~ ~ ~ I 

(a) ~ 

(b ) ~Hi~~ t:1 o I 

(c) Ri:.flch(UI 

(d ) "&R'Zif dic:litnt:101 

(b) ~ acn.flch ~ ~ ~ ~ # ma 18. ~ # ~ UTT ~ ~ ~ cfiR1JT Wfil t ? 

~I 

(c) ~~~~~~~~~ 
#~~~I 

c d) lffi--;:;ft;ft ( ~ i ~ 11 f.l ct>) muft Hfifu 'chG ~ 
~~~'chl~~~~ 
~#~~~t I 
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(a) fcic!.IM-1 C 

(b) fcic!.IM-1 D 

(c) fcic!.IM-1 A 

(d ) fcic!.IM-1 B 
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10. What is the number of moles of 'He' in 104 g of 

helium gas? 

(a) 52 
(b). 26 
(c) 13 

(d) 6·5 

11. While burning hydrocarbon fuels, if we see a 
yellow flame with lots of black smoke, it 
means that the fuel is: 

(a) made of saturated hydrocarbons. 

(b) made of unsaturat~d hydrocarbons. 

(c) burning completely. 

(d) wet. 

12. The number of saturated and unsaturated 
bonds in cyclohexane are : 

(a) 9 and O respectively. 

(b) 18 and 3 respectively. 

(c) 18 and O respectively. 

(d) 9 and 3 respectively. 

13. Which one of the following statements is true 
when non-metals are dissolved in water? 

14. 

(a) They produce basic oxides. 

(b) They produce acidic oxides. 

(c) They produce neutr_al oxides. 

(d) They provide hydroxides. 

Which one of the following statements is not 
correct with regard to genetically modified 
organisms? 

(a) In this technique a gene from one 
organism is isolated and transferred to 
the cell of another organism. 

(b) This technique has applications only in 
plants. 

(c) Genes for insect resistance may spread 
from crop plants to wild plants. 

(d) To produce a transgenic animal the 
novel genes are inserted at a very early 
stage of development. 

15. 

16. 

Suppose, due to an accident, the delicate 

lining of the mouth and the oesophagus of a 

person is injured. In this case, which one of 

the following tissues will be affected ? 

(a) Smooth muscle 

(b) Cuboidal epithelium 

(c) Squamous epithelium 

(d) Striated muscle 

Which one of the following statements is 

correct about the cell membrane ? 

(a) It is made up of cellulose. 

(b) It is a permeable structure for all 
substances. 

(c) It is flexible and enables the cell to 
engulf many materials. 

( d) It d9es not allow diffusion of gases like 
oxygen and carbon dioxide. 

17. Plants prepare glucose in the process of : 

(a) respiration 

18. 

(b) photosynthesis 

(c) degradation 

(d) mineral absorption 

The disease rickets develops in children due to 

the deficiency of : 

(a) Vitamin C 

(b) Vitamin D 

(c) Vitamin A 

(d) Vitamin B 

GHSA-B-GNL (5-A) 
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19. ~ I ~~II-a~~~~~ 21. 

~~~<Fcfilffl~~~~ : 

~I ~II 
(CT!i ~) ("iiiflf) 

A. ~qi:r-;ft 1. ~-a~~\'ffi~ 
~t 

B. ~ 2. ~-~~"{m~~t 
C. 3. ~ ~ reu;m ~ . 

~~ 

D. ~WU 4. ~-a~~\'ffi~ 

A 

(a) 4 

(b) 4 

(c) 1 
(d) 1 

B 

3 

2 

2 

3 

~t 

C 

2 

3 

3 

2 

D 

1 

1 

4 

4 

20. !ft.:iQl3B ~ ~ # R'--ifB.lftAa # -a ~-m ~ 23• 

cfi~~i? 
(a) ~ -a ~ cITffi" ~~ ~ d(ll~~ 

m (~) fclfcfi{ol !ft-1Ql3B # ffl 
~ ~ t ~ '!f4 ~ !ft-1Ql3B ~ 
~~~-a 3ct-tNld ~~ ~ 
d(ll~~ ~ (~) fclfcfi{ol ql1:ffi ffl 
~"Cffi~"Zifl~ I 

(b ) ~ -a ~ cf@ ~~ ~ d(ll~~ 

m (~) fclf<h<o1 !ll-1Ql3B # m 
~ ~ t ~ '!f4 ~ !.ft-1Ql3B ~ ~ 
~~-a 3ct-tNld ~~ ~ d(ll~~ 24. 

m (~) fclfcfi{UI ~ ql1:ffi ffl ~ 
-cm: "Zill ~ t I 

(c) ~ .-a 3ffi cITffi" ~~ ~ d(ll~~ 

m (~) fclfcfi{ol !ft-1Ql3B # ffl 
~ ~ ~ , ~ 'lf4 ~ !ft-1Ql3B ~ 
~ ~ ~ -a 3ct-tNld ~~ ~ 
d(ll~~ ~ (~) fclfcfi{UI cfrra ffl 
~ -cm: "Zill ~ t I 

(d) ~ ~ m (~) fclfcfi{ol !ft-1Ql3B ~ 
ffl # -a -cm: ~ "Zill ~ .I 

GHSA-8-GNL ( 6 - A) 

~ ~ cfiT ~ "CR ~ 9 N t I ~ ~ cfm . 

&IT,~~~~~~~ "CR lJTtIT ~ 
~ 1{,fclzitf.la ~ ~ ~ 1{>fclzitf.la ~ cfiT 

9~m? 

(a) ~m~wn 
(b) ~ 1N~~m7TT 

. (c) ~ 9~ m ~ 
(d) ~cnlim~ .!_NW~ 

9 

(a) crft ~ ~ cfiT c113tjs~l.!.I 9<1c1J.:i 

(b ) cfR ~ ~ cfiT c113tjsctl.!.1 ~ 

(c) cfR ~ ~ # ~ mclcR 

(d) cfR ~ ~ cfiT ~ 

~~$~~~ 15 cm t ,~mr 
~ 00 ~~"CR~~ "&t ~ fcf; ~ 

~ cfiT m ~ cfiT c11~ fcl cf> si fa Rli:.si GH ? 

(a ). 15 cm 

(b) 10 cm · 

(c) 30 cm 

(d) 40 cm 

~ (~14l~B) ~ ~ # f.l'--ifB.lftAa it-a ~-m 

~ ~ ~ -:,ff i ? 

(a) -~~: ~~~~t I 

(b ) ~ 3-l-1cftcf>{Uft4 ~ mcf t I 

Cc) ~ - diT<ffilzit.:i ~ ~ # ~ ~ 
~wu~t, 

(d) ~w-IT !:!l'!~~t ~~ -~ 

~~I 
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19. 

20. 

Match List I with List II and select the correct 

answer using the code given below the lists : 
List I List II 

(Blood Vessel) (Function) 

A. Pulmonary 1. Carries blood from 
artery lungs to heart 

B. Capillaries 2. Carries blood to heart 
muscle 

C. Coronary 3. Connection between 
artery arteries and veins 

D. Pulmonary 4. Carries blood from 
vein heart to lungs 

Code: 

A B C D 
(a) 4 3 2 1 
(b) 4 2 3 1 
(c) · 1 2 3 4 
(d) 1 3 2 4 

Which one of the following statements is. true 

with regard to a greenhouse ? 

(a) The shorter wavel~ngth infrared 
radiations from the Sun can enter into 
the greenhouse while longer wavelength 
infrared radiations from the ground and 
the plants inside the greenhouse cannot 
pass back out through the glass. 

(b) The shorter wavelength infrared 
radiations from the Sun can enter into 
the greenhouse and the longer 
wavelength infrared radiations from the 
ground and the plants inside the 
greenhouse can also pass back out 
through the glass. 

(c) The shorter wavelength infrared 
radiations from the Sun cannot enter 
into the greenhouse while longer 
wavelength infrared radiations from the 
ground and the plants inside the 
greenhouse can pass back out through 
the glass. 

(d) No infrared radiation can pas_s through 
the glass of the greenhouse . . 

21. An object weighs 9 N on the surface of the 

Earth. What would be its weight, when 

measured on the surface of a planet where the 

acceleration due to gravity is 9 times that on 

the surface of the Earth ? 

(a) 

(b) 

(c) 

(d) 

The weight would remain the same 

The weight would be equal to 1 N 

The weight would become 9. times 

The weight will be reduced to .! N 
. 9 

22. The twinkling of a star is due to : 

23. 

24. 

(a) atmospheric reflection of starlight. 

(b) atmospheric refraction of starlight. 

(c) continuous change in the position of the 

star. 

(d) . oscillation of starlight. 

A convex lens has a focal length of 15 cm. At 

what distance should an object be placed in 

front of the lens to get a real image of the 

same size of the object ? 

(a) 15 cm 

(b) 10 cm 

(c) 30 cm 

(d.) 40 cm 

Which one of the following statements about 

biogas is not correct ? . 

(a) It is mainly composed of methane gas. 

(b) It is a non-renewable source of energy. 

(c) It is formed by the decomposition of cow 

dung in the absence of oxygen. 

(d) It burns without smoke . and leaves no 

residue. 

GHSA-B-GNL ( 7-A) 
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2s. ~ ~ ~ -ij f.:11-.fG-!Rsia -ij ~ cbt.J-m ~ 30. ~ : 
-~~~t?-
(a) "\ "\~ ~1$~1cful<ch ~ 

(b) ~~ 

(c) ~~ 
(d) ~~ 

26. f.:11-.f G-I Rsl a -ij ~ cbt.J-m ~ ~ fulffi ~ 
t? 
(a) ~3TT 

(b) ~(~) 

(c) ~(~) 

(d) ~~Ul-il$4l;;it 

27. f.:11-.fG-!Rsia -ij ~ cbt.J-m 1!.'-fi, ~ cf'ff cflT ~ 
cf;R1lT t ? 

(a) cf'ff -ij ~ ~ -l1$?)"1-l dilrffil$sl cflT 

~ 

(b) cf'ff -ij ~ cflT ~ 

( c) cf'ff -ij ~ <fiUIT cflT ~ 

(d) cf'ff -ij ~ ~ cflT ~ 

28. "M ~ -ij 3tqf{qJ-1 (~) ~ cf;R1lT mo1 
t? 
(a) ~ ch1~1chl -3WTTtr -ij ~ 

(b) ~ diljci~lch ~ -ij ~ 

(c) ~3lfcfiR-ij~ 

(d) ~"{11-q~ 

Cb) ~~~GRf«@~~t I 

(c) ~ ch1~1chl~ ~ t I 

(d) ~ ~3TT -ij ch1~1chl cf;)~~ mf.l' ~ 
~~~~~ql(~t I 

31. f.:11-.fG-!f©ci it ~ cbt.J_ajt ~' ~ ~ "1-l~&ll 

3Wfltfcfq,~~~~~~~ 

(ft!G-l;q.:i ~ fuil) t ? 

(a) ~ 

(b ) itftB 

(c) ~~ 

(d ) q I ~Ile-! tl ,ajt. 

32. f.:11-.f fui Rs1 a -ij ~ cbt.J-m 1!.'-fi ~ ~ (~ 

~) ~ ~ ~ "3q'Rf ~ \J!~ql1 cf;) 

cTTUTcfffl~~~~t? 
(a) Amw 

(b) Aw 

(c) Bwhw 

(d) Cwg 

29. ~ ffl' -ij ~ "ITT q@l ~ f.:11-.fG-!Rsia _-ij-~ 33. 

~1!,cfi ~~ ~ t? 
~~~~t? 

(a) ~DRl4-1 WR 
(a) ~ -(511f?;0) 

(b) -~ (~) 

(c) ~ 

(d ) ~3TT 

GHSA-8-GNL ( 8 - A) 

ccr ~ftfficf>1 ~ ~ 

(d ) ~ 
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25. Which of the following mineral acids is found 30. Hyphae are : 

in human stomach ? 

(a) Hydrochloric acid 

(b) Lactic acid 

(c) Uric acid 

(d) Methanoic acid 

26. Which one of the following living organisms 

gives litmus ? 

(a) Protozoa 

(b) Virus 

(c) Lichen 

(d) Saccharomyces 

27. Which one of the following is the main reason 

of acid rains ? 

(a) Dissolution of sulphur and nitrogen 
oxides in rain 

(b) Dissolution of minerals in rain 

(c) Dissolutio.n of dust particles in rain 

(d) Dissolution of soil solution in rain 

28. Mutation in a virus is caused due to a change 

in its: 

29. 

(a) cell size. 

(b) genetic material. 

(c) shape. 

(d) colour. 

Yeast, which is used to make bread, belongs to 

the group: 

(a) . Protista 

(b) Fungi · 

(c) Monera 

(d) Protozoa 

(a) produced by yeast. 

(b) thin threads formed by many fungi. 

(c) reproductive cells. 

(d) responsible for preventing the cell from 

losing water in wet conditions. 

31. Which one of the following is the first urban 

settlement in the world .to reach a population 

size of one milHon (million-plus city) ? 

(a) London 

(b) Paris 

(c) NewYork 

(d) Washington D.C. 

32. Which one of the following climatic types 

(Koppen's Scheme) is best suited to describe 

the climate of the western fringe of 

Rajasthan? 

33. 

(a) Amw 

(b) Aw 

(c) Bwhw 

(d) Cwg 

Where are the Bermuda Islands located ? 

(a) Caribbean Sea 

(b) North Atlantic Ocean 

(c) Gulf of Mexico 

(d) Mediterranean Sea 

GHSA-B-GNL ( 9-A )' 
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34. f.li:.iR-lRsa -ij ~ ~-~ ~ ~~ ~ apf -ij 38. 

~ \f1infflcfi ~ "cfiT ~ ~ q;J ~ ~ ? 

f.li:;ifflf{9a -ij ~ ~-mro q4fq(OI "cfil~ ~ 

~~? 

(d) ~ 

35. m«f -ij, ~ ;jt,H-i@lll-~ ~ ~ffefi.f 

~~-cfi)~"cfi«fi~? 

(a) 1981 - 2011 

(b) 1951 - 1981 

(c) · 1921 - 1951 

(d) 1911 - 1921 

36. ~Jil·ck1 ~ -ij Xifolcfi(OI ~ ~ "fRT ~ 

~? 

(a) *~ 
(b) ~~ 

(c) ~~ 

(d ) -qq.r~ 

37. f.li:.iR'!Rsa -ij ~ ~, m?J fclfflll-l ~ fcRm: ~ 

~~~~? 

(a) ~~ 

(b ) ~lITTre 

(c) ~ffl~ 

(d) ~~ 

1. · ~~,ffet 

2. ~~&"-ll 

3. ti1~9(cfi ~ t-rr 

~~~~"cfil~"cfi(-att"3W~: 

(a) ~ 1 

(b) ~ 2~3 

(c) 1, 2 ~ 3 • 

(d) ~ 1~3 

39. f.li:;ifflf{ga -ij ~ ~, ~ d9Xie!ls!J9 -ij 

lflq;f-"4114' ,fcrenra ~ ~ ~ -ij ~ ~ ~ 

"cfilf.Rc;:qur~? 

(a) ~~ 

(b ) ~~~ 

(c) cft.~ .3lR.cft. W:f 

(d) ~ -~ 

40. f.li:.iR-lRsa -ij ~ ~-~ ~ ~,dl<;1c1dl, ~ -~ 

M ~ ~ -ij ~ 3TI7@T cf>) ~' ~ , 

mR' 'cfi'a:IT ~ ~ ~ ~ ~ .3Tim( ~ 

~ "cfi«fi ~ ? 

(a) ~~ 

(b ) cfi,~hn~ ~ 

(c) ~~ 

(d ) lf"Rqi?ft 

GHSA-B-GNL ( 10 - A) 
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34. Which , one of the following States/Union 38. Which of the following is/are the functioil(s) of 

Territories has the highest percentage of environment ? 

forest area to the total geographical area ? 

(a) Aru~achal Pradesh 

(b) Lakshadweep 

(c) Nagaland 

(d) Mizoram 

35. In India, the period of steady population 

growth refers to the decade(s) of : 

(a) 1981 7" 2011 . 

(b) 1951 - 1981 

(c) 1921 - 1951 

(d) 1911 - 1921 

36. Manikaran in Himachal Pradesh is known 

for: . 

(a) Solar energy. 

(b) Geothermal energy. 

(c) . Bioenergy. 

(d) Wind ener.gy. 

37. Who among the following, first mooted the 

idea of deficit financing ? 

(a) Adam Smith 

(b) Alfred Marshall 

(c) John Maynard Keynes 

(d) Milton Friedman 

1. 

2. 

3. 

Supplying resources 

Sustaining life 

Providing aesthetic services 

Select the correct answer using the code given 

below: 

(a) 1 only 

(b) 2 and 3 only 

(c) 1, 2 and 3 

(d) 1 and 3 only 

39. Who among the following formulated the 

concept of poverty as a measurable 

development indicator in the Indian 

subcontinent ? 

(a) Dadabhai Naoroji 

(b) Romesh Chandra Dutt 

(c) V.K.R.V. Rao 

(d) M. Ranade 

40~ Which one of the following terms denotes the 

inputs in terms of tools, machines, buildings, 

raw materials and money in hand required at 
any stage of production ? 

(a) Fixed capital 

(b) Working capital 

(c) Physical capital 

(d) Human capital 
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(b ) ~ 

(c) ~ 

(d) .cfi'a:IT lf@ 

(b ) ~ cfa ~ "Rftr ~ ~ ~ cJ,T 

~R41'31-1 

(c) ~ ~ - ~ - ~ ~ ~ 
~ ~ ~ cf,T ~ 

(d) irr«f cfa ~ "Rftr "lJT ~ ~ ~lcf>R"'lcf>dl 

"Rftr cfa 3i"M~ . 

42. $ mlf1ur itwITT '1J'l'iit ~, 2005 ~ ~ 45. Rl-.lk!Rsa -q ~ ~-zjt ~ lR!: GST ~ ~ 
;;ff 3lRft? -q R'--lk!Rsa ~ -q ~ ~-m ~ ~ ~ ? 

(a) ~ mlf1ur aJ;TT -q ;;,i~{d'i<!_ ~ 'cf>l' 175 ~ 

cf,T UWTR §R~d ~ ~ I 

(b ) ~ -~ cf>IJllllU 'cf>l' ~~ ~ 
~c!J ~~ I 

46 . 
. (c)' 'ffiTTT 'cf>l' ~l'll-<ld : ¥@ ~ ~ 'Gl'.JT 

~~~i I 

(d ) ~ ~ m«t ~ mlf1ur ~ -q cf>1.qff.¾a 

~"3l'@T~ I 

· 43. Rl-.lk!Rsa -q ~ ~-m ~' ~ ~ ~ -q 
~ ~ ~ -q crtuio ;;ff ~ ? 

(a) 'U$~ 
47. 

(b ) ~ ~ -q ~ m cfa 3~1:,1
2
it1011 ~ 

~-~~ 

(d ) ~3Titrnf 
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(a) ~mirnT 

. (b ) R:1 fct,ct-1 I ~ cJ,T di T tffl1 '31-l 

(c) ~ 

(d) ~ 

Rl--lk!Rsa -q ~ ~-mm ~ ~ ~~ ? 

1. 511%(1-l ~ ~ cfa ~ ~ ~ ~ I 

2. ~ ~ ~ ~ cfa ~ ~ 
~~I 

~~~~cf,Tmcfi{~~~= 

(a) ~ 1 

(b) ~2 

(c) 1 ~ 2 'Gl'-lT 

(d) . ~ it .1, '-l" ~ 2 

Rl-.lk!Rsa -q ~ ~-m ~, ~'llsJ!qli!_ cf;T ~ 

~ ;;ff~? 

(b) :m ~'llsJ!qli!_ 

(c) ~~<!_l.qql{) ~'llsJ!qli!_ 

(d) ~!'i~ql{) ~'llsJ!qli!_ 
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41. Which one of the following inputs is required 44. Which one of the following is not a provision 

in less quantity in case of non-farming related to a Money Bill? 

42. 

activities ? 

(a) Land 

(b) Labour 

(c) Capital 

(d) Raw material 

Which one of the following statements with 45• 

regard to the National Rural Employment 

Guarantee Act, 2005 is correct ? 

(a ) It ensures 175 days of employment to 

needy persons in rural areas. 

(b) It gives higher wages to women workers. 

· (a) Imposition, abolition, rermss10n, 
alteration or regulation of any tax 

(b) Appropriation of moneys out of the 
Consolidated Fund of India 

(c) Imposition of fines by local authority for 
local purpose 

(d) Custody of the Consolidated Fund of 
India or the Contingency Fund of India 

Which one of the following items is not 
covered under GST ? 

(a) Cosmetics 

(b) Medical grade oxygen 

(c) Jewellery 

(d) Petrol 

-
46. Which of the following statements is/are 

(c) People are generally given both skilled 

and unskilled jobs. 

(d) This is implemented only in rural areas 

of India. 

43. Which one of the following is not mentioned 

as a form of Emergency in the Constitution of 

India? 

(a) National Emergency 

correct? 

1. 

2. 

Committee on Estimates is an ad hoc 
committee of the Parliament. 

Committ~e on Railway Convention is a 
standing committee of the Parliament. 

Select the correct answer using the code given 
below: 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

(b) State Emergency in terms of 47. Which one of the following is not an Indian 

Proclamation of President's Rule in a 

State 

(c) Financial Emergency 

(d) Health Emergency 

GHSA-B-GNL ( 13 -A) 

form of Socialism ? 

(a ) Democratic Socialism 

(b) Radical Socialism 

(c) Communitarian Socialism 

(d) Nehruvian Socialism 
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48. f.ii..i@fu.a # ~ ~-m ~ , BRICS ~ ~ 51. f.ii..i@fu.a it ~ ~ ~ cf'J # ~ ~ 'qffiJ ~ 
~ ~ criufo ~ ~ ? . ~ ~ ?.81!::tlCf, ~ ~ ~ lJ<TT 2JT ? 

(a) ~~ficTTcf>T~ 

(b) ~ ~ti"il~fd ~ cf)f ~ 

(c) ~~~3l~3TTcfil~ 

(d) ~ ef~ ~~#~UN W~ ~ 
~ ~ ~ ~ ~ ~ ~-~ cf)f 

~ 

49. f.ii..i@fu.a # ~ ~-zjr ~' ~ ~ cfit 

3ffe@T~fci~~dl ~~? 

(a) ~~qffil~~ffl~~ 

~~ 
(b) ~~~#~~t 

(a) 1851 

(b) 1854 

(c) 1865 

(d) 1871 

(a) ai F8chl I 

(b} 3lUffi 

(c) '8kl:SR 

(d ) -~ 

· 53. ~ ~ ~i-11ci~ttl <il. f.ii..i@fu.a # ~ ~ ~ 

~~~~~~~#~ 

50. . ~ ~ ~Rf~I~ ~ GfR # R'--lR-ifu.a # ~ 

~-mta ~ ~-~~? 

1. ~ '!fcf~1~1 # ~ cf>T Sl@~qo1 ~ I 

2. ~ cfit 3l1¥f cfilIB-~ - ~ 
~ ~ ~ ~ w ~ siRt~fqa cfit ~ 
~ I . 

3_ ~ cnT ~ ~ - ~ ~ 54. f.ii..i@fu.a ~ # ~ ~-zjr ~, f61.11~<:Hlll 

~~: m ~ 2JT I ~ WR-cflffi (R.c.shl<R.) ~ ~ ~ ~ ~ 
~~~? 

(a) 1, 2~3 

(b ) ~2~3 

(c) ~2 (c) {lllcff'i::lc:fig 

(d) ~1~3 
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48. Which one of the following best describes 51. In which one · of the following years was the 

first telegraphic connection established 

between Europe and India ? 
BRICS? 

(a) A group of five nuclear powers 

(b) A group of five industrialized nations 

(c) A group of five major emerging 

economies 

(d) A group of five potentially strong UN 

Security Council members from the 

Countries of the Global South · 

49: Which one of the following is not a 

characteristic· feature of Indian Federalism ? 

(a) The federating units consented to form a 

union 

(b) Residuary powers vest with the Centre 

(c) Single citizenship 

(d) An extensive Union and Concurrent list 

50. Which of the following statements about 

sculptures at Sanchi is/are correct ? . 

1. 

2. 

In some sculptures there is 

representation of Shalabhanjika. 

The figure of Shalabhanjika is 

represented by a woman surrounded by 

lotuses and elephants. 

3. The Shalabhanjika motif • was not 

(a) 1851 

(b) 1854 

(c) 1865 

(d) 1871 

52. Who among the fo!lowing was the founder of 

the Virashaiva Movement in Karnataka ? 

(a) Basavanna 

(b) Appar 

(c) Sambandar 

(d) Sundarar 

53. The ruins of Hampi were brought to light by 

which of the following British officers of the 

East India Company ? 

(a) Colonel Colin Mackenzie 

(b) James Prinsep 

(c) William Jones 

( d) James Rennell 

directly inspired by Buddhist ideas. 54. Which one of the following works was 

Select t:µe correct answer using the code given 

below: 

(a) 1, 2 and 3 

(b) 2 and 3 only 

(c) 2 only 

(d) 1 and 3 only 
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composed by Krishnadevaraya on statecraft in 

Telugu? 

(a) Amuktamalyada 

(b) Jambavati Kalyanam 

(c) Rayavachakamu 

(d) Satyavadu Parinaya 
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55. ~lcf;l~II~~~~~~ 57. 

~~~~cfilfflcfi\~"3W~: 

A. 

B. 

C. 

D. 

~: 

~I · ~II 

(~ JlifiT() (-srg& fcl:tlc/dl) 

ci.ilBTe 

$~ci1BTe 

~@BTe 

~Ti.RftBTe 

1. ~ cJT ~ RlctiRM 
~-@mi- qfffi ~ 

2. ~ Rlctima ~ 
~-@mi- qfffi ~ 

3. ~~~~~ 
3lm~•~i 58. 

4. ~ l"!Gf3TT -q "3iW 1RaT 
it ~ 3lm lITTTT -q 
~~i 

1t~"fficTT~~"q"{~tt~~~ 
t ~ ~ f!J.i;qlqf¾ ~ <frn;f, ~-~~cf@ 

~ ~ -i<:lle1g@1 f.rimf m ~ ~ I ~ 

-i<:l1e1g&1 ~1 cfi!'!e1a i ? 

( a) i:rfu:a.fcfi -i<:l I e I g€fl 

(b) ~~ -i<:llelg@"i 

(c) ~ -i<:lle1g&) 

(d) ~-~ -i<:lle1g@1 

-3il$fi)~efl.f ~~cffffi~i? 

(a) WfR" <f[q 

(b) WfR" ~ 

(c) wrr,:rqlfi 

(d) WfR" ffiU@T 

A B 

(a) 2 1 

C 

4 • 

D 

3 

3 

2 

2 

59. f..t'-.f@furn it ~ ~ fc$ft ~~ ~ ~ ~ :ij 
-~~? 

(b ) 2 

Cc) 3 

(d) 3 

4 

4 

1 

1 

1 

4 

56. M" ~ cJT ~ l$f -q qflq:s'liic. cf;l 

f..11--1R1furn -q ~ ~ ~ ~ ~ tft ~ ~ i? 

(b) ~ 

(c) ~ 

(d ) . ~ 

(a) m«f-q~~-q~~cffffi~ 
fc$ft~ 

(b) ~ ~ ~ -q ~ cfi8 cffffi ~ 
~~RN 

(c) ~~~~~~cfIBT~ 

fc$fT qlful~ ~ 

(d) m«f -q ~ ~ ~ cfi8 cfIBT ~ 
. fc$ft~ 

60. R'--l@furn it ~ cf>1;f _m ~, ~ ~ <fi't lTT7T 

<fiT lIT:TT q;) ~ ~ ~ ? 

(a) ~ <fiT ~ ~ 

(b) M"~~<fil~ 

(c) ~ ~ ~ <fiT ~ 

(d) ~ ~ ~ -q 3WTdT <fiT ~ 
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55. Match List I with List II and select the correct 57. Individual lava flows are normally only a few 

answer using the code given below the lists : 

List I 

(Soil Type) 

A. Entisols 

List II 

(Salient Characteristic) 

1. Soils having weakly or 
quickly developed 
horizons 

B. Inceptisols 2. Weakly developed soils 
with no horizons 

C. Histosols 3. The~e soils are very old 
and highly weathered 

D. Oxisols 

Code: · 

A 

(a) 2 

(b) 2 

(c) 3 

(d) 3 

B 

1 

4 

4 

1 

4. These soils have very 
high quantity of organic 
matter in the upper 
layers 

C 

4 

1 

1 

4 

D 

3 

3 

2 

2 

56. A peripediment in a desert or semi-desert 

region is also known as : 

(a) Inselberg 

(b) Zeugen 

(c) Bajada 

.(d) Playa 

feet thick, but over a long period of time, 

repeated flows may build up a volcano. Such 

volcanoes are termed as : 

(a) Shield volcano. 

(b) Composite volcano. 

(c) Strato-voicano. 

(d) Cinder-cone volcano. 

58. Isohalines are lines joining equal : 

(a) temperature. 

(b) pressure. 

(c) rainfall. 

(d) salinity. 

59. Which one of the following . would be 

considered as Foreign Direct.Investment? 

(a) A foreign company buying shares in 

stock exchanges in India 

(b) A foreign country pension fund investing 

in Indian stock markets 

(c) A foreign merchant banker buying 

shares from Indian stock markets 

(d) A foreign entity setting up an 

educational institution in India 

60. Which one of the following does not influence 

quantity demanded for a good ? 

(a) Good's own price 

(b) Price of a complementary good 

(c) Price of a substitute good 

(d) Prices of inputs into production of the 

good 
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61. · f.i~R-tfurn if~~~~ ctlT ~ ~ ~ 64. f.ic1i'i:l-1 ~ ~ m 'if, f.i~R-tfurn ~'if~ 
m«r~~~~~~t? ~-m~~;rfft? 
(a) ~ 

(b) ~~~ 

(c) ~ 

(d ) ~'if~ cnW -~ 

62. f.i~R-!Rsia 'if ~ ~-~ "3tJ1GR ~ 

stRt41~<11 cfiT ~ ~ ~ ? 

1. ~~ 

2. ~m~~mefit~m§lij 

. 3. "5$r-"ittl 

4. ~~ 

~~~~q)f fflefi\~~~: 

(a) ~ 1~2 

(b) ~1, 2~ 3 

(c) ~3~4 

(d) ~2~4 . 

63. 'lTT«f ~ ~ ~ ~ ~ 19(1) 'if, 
f.i~R-!Rsia if~~~ t~ ? 

1. tf11ifUT. ~ ~ efit fcl a~ <11 

2. ~li@l44<11 ~ ~ fer-:rT ~ ~ ~ 

3. w:rfu q)f 3*-f ~ f.r:RR "cfi8T 

4. m«f ~ ~ ~1${ 'if (-qd~dl ~ ~-~ 

~~~~q)ffflefi\~~~ : 

(a) ~ 1~2 

(b) 1, 2, 3 ~ 4 

(c) ~4 

(d) ~ 1, 2~ 4 _ 

<a) ~ m«r ~ "3tf-~ ~ -qc; ~ ~ f.ic1i'i:l.:i 
cR@Tt I 

(b ) cnW Rcli'i:1-l ~' ~ Rcli'i:1-l ~ efit 

~~fer-:n 311:R11G~~~~ 
t1 

<c) f.ic1i'i:l-1 ~' m«r ~ ~ ~ ~ 
~~~ I 

(d) fcfajt ~ q;1 (1~91ci, ~ ~!Wf "ITT, it 
f.ic1i'i:l.:i -~ tfiT ~ cti4'i:11£1-~ 

(~) ~ffl~~~~~ 
~i1 

65. m«f ~ ~ efit d~~lcfil ~ ~ 'if, 
f.i~R-!Rsia ~ 'if ~ ~-mk ~ t~ ? 

1. d~~lcfil if~ efit ~ ~ 3lclm efit 

WIBTctlT~t I 

~~efit~~ 
d~~lcfil if m ~ ~ ~ I 

(a) ~ - 1 

(b) ~2 

(c) 1 ~ 2 c::RT 
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61. Infant mortality ratio of which one of the 64. 

following countries is comparable to that of 

India? 

(a) China 

(b) United States of America 

(c) Sri Lanka 

( d) None of the above 

62. Which of the following factors signify 

monopolisti~ competition ? 

1. 

2. 

3. 

4. 

Differentiated products 

Large number of buyers and sellers 

Barriers to entry 

Homogeneous products 

Select the correct answer using the code given 
below: 

Which one of the following statements with 

regard to the Election Commission is not 
correct? 

(a) It conducts elections to the office of 

the Vice President of India. 

(b) An Election Commissioner can be 

removed from his office without the 

recommendation of the Chief Election 

Commissioner. 

(c) Election Commissioners are appointed 

by the President of India. 

(d) Governor of a State is constitutionally 

bound to provide support staff to the 

Election Commission, if required. 

(a) 1 ~d 2 only 

(b) 1, 2 and 3 only 

(c) 3 and 4 only 

(d) 2 and 4 only · 

65. Which of the following statements with regard 

to the Preamble to the Constitution of India 

is/are correct? 

63. Article 19(1) of the Constitution of India, as it 

stands amended, includes which of the 

following? 

1. 

2. 

3. 

Freedom of speech and expression 

Assemble peaceably and without arms 

To acquire and dispose property 

4. To move freely throughout the territory 
of India 

Select the correct answer using the code given 
below: 

(a) 1 and 2 only 

(b) 1, 2, 3and4 

(c) 4 only 

(d) 1, 2 and 4 only 
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1. 

2. 

Equality of status and equality of 

opport-unity find mention in the 

Preamble. 

The expression 'unity and integrity of 

the Nation' was not there in the 

Preamble since the beginning. 

Select the correct answer using the code given 

below: 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 
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66. 'qffif ~ ~ ~ 'lWT-!Vcf; #, F-1i:.ik1Rsa # ~ 69. 

cf>t.f-m ~, 'qffif ~ ~ ~ ~ ~ ~ 
~ # criuhT :,ff t ? • 

(a) ~ ~ t-TT, ~ ~ ~ ~ ~ 
~ 

(b) ~ cfa ~ ~ ~ -3i9ql+,it-lch ~ cf>T 

90:flllll 

(c) Q_cfil(-qq; ~ ~ cfiT lfH t-TT ~ 
~ "9fu:8:1Ul cfwTT 

(d) ~ ~ ~ cfa tl1cRT fclq;ma ~ 

67. ~ q,R, ~ ~-1:fiITTft (~-~) ~ -q 70♦ -

~ cfi) ~ ffi ~ ~ f-1qk1fu.a ~ # 

~ cf>t.f-~ ~ ~ ~ ~ ? 

1. ~ 

2. 3lmTlft 

4. ~ 

f-1qk1fu.a ~3TT cfi) ~ ~ ~ ~ cfi\ -

chl~ljS4'ifilch ~ ~ ~ : 

1. ~~qi;lijjli; ~ ~ 

2. ~ flfl!Hl~ 

3. flfl!Hl~ ~ cf>T ~ 

4. "1k1~icll~I GJr.l ~flllchi:S 

~~~~cf)Tfflcfi\~"3m:~: 

(a) 1, 2, 3, 4 

(b) 2, 1, 3, 4 

(c) 2, 4, 1, 3 

(d) 4, 2, 1, 3 

~ 1916 'qffif ~ ~ # ~ ~ ~~'6:f'{?i t ? 
1. cfilW cf>T ~ ~ 

2. cfilW -.mri ftq$11a1 

3. ~~~~~ 

~ ~ ~ ~ cf)Tffl cfi\ ~ "3m: ~: 

(a) . ~ 1~ 3 · 

(b) ~2~3 

(c) ~ 1~ 2 

(d) 1, 2 ~ 3 ~ ~ ~ ~ cf)T m cfi\. ~ "3m: ~ = 

(a) ~1~2 

(b) ~2~3 

71. ~ I cfil~ II~~~~~~ 
~~~~cf)Tfflcfi\~"3m:~: 

(c) ~ 1,2~ 3 

(d) ~ 1,3~ 4 

68. f-1qk1fu.a # ~ ~ 3TIIUfi ~ m%m ~ 1910 

~ 1913 ~ ~ ~ ~ 3/lK ~ cfiT 

tll(lcll~ch ~ # ~ ~ ? 

(a) ~•1°1~.fl ~ 

(b) . <lfl~f4l ~ 

(c) ffl ~ ~ ~ 
(d) ~~l~lijjlffi.fl ~ 

. GHSA-8-GNL ( 20-A) 

~I ~II 
(tfr ~) (!]&17&4) 

A. ~-~ 1. Rlcfii;(lijjli; . 

B . ~-lfaf. 2. c:h)~chldl 

C. ~-ffilf 3. ~~lfl3< 

D. ~-~-lfaf 4. ~ 

~: 

A B C D 
(a) 2 1 4 3 

(b) 2 4 1 3 

(c) 3 4 1 2 

(d) 3 1 4 2 
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66. In Part-IVA of the Constitution of India, 69. 

which one of the following is not mentioned as 

67. 

a duty of every citizen of India ? 

(a) To render national service when called 

upon to do so 

(b) To renounce practices derogatory to the 

dignity of women 

(c) To value and preserve a unitary national 

culture 

(d) To develop the spirit of inquiry and 

reform 

Which of the following terms were used in the 

lndo-Persian sources of the Mughal period to 

denote a peasant ? 

1. Raiyat 

2. 

3. 

4. 

Asami 

Muzarian 

Majur 

Select the correct answer using the code given 
· below: 

(a) 1 and 2 only 

(b) 2 and 3 only 

(c) 1, 2 and 3 only 

(d) 1, 3 and 4 only 

68. Who among the following pioneering Bengali 

women serialised her autobiography Amar 
Katha between 1910 and 1913 ? 

(a) Binodini Dasi 

'(b) Rashsundari Debi 

(c) Begum Rokeya Sakhawat Hossain 

(d) Kailashbashini Debi 

.70. 

71. 
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Arrange the following events chronologically 

starting from the earliest : 

1. Ahmedabad Mill Strike 

2. 

3. 

Champaran Satyagraha 

Foundation of the Satyagraha Sabha 

4. Jallianwala Bagh Massacre 

Select the correct answer using the code given 
below: 

(a) 1,2,3,4 

(b) 2, 1,3,4 

(c) 2,4, 1,3 

(d) 4,2, 1,3 

The year 1916 is important in Indian history 
for: 

1. 

2. 

3. 

Lucknow Session of the Congress 

Congress - League Pact 

Formation of Home Rule League 

Select the correct answer using the code given 
below: 

(a) 1 and 3 only 

(b) 2 and 3 only 

(c) 1 and 2 only 

(d) 1, 2 and 3 

Match List I with List II and select the correct 
answer using the code given below the lists : 

List I List II 

(Railway Zone) (Headquarters) 

A. South-Eastern 1. Secunderabad 

B. South-Central 2. Kolkata 

C. South-Western 3. Bilaspur 

D. South-East-Central 4. Hubli 

Code: 

A B C D 
(a) 2 1 4 3 

(b) 2 4 1 3 

(c) 3 4 1 2 

(d) 3 1 4 2 
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72. ~fufi~~~rw:rr~t? 75. ~ ~ ~ ~ ~, f..11-..iR-tfuia ~ # ~ 

(a) ~~~~~ ~-m~~-:ttft? 

(b) ~~~~-~ (a) ~ ~ cfil4qlcicfi ~ ~ ~ (l~q@ # 
' 

. ~ ~ ~ cfiR f.:tcfilGil( 
"Plfurwftl 

(a) 
"ffiR., ~ WU, ~ ~ (l~q@ ~ ~ (b) 

(d) cfiR RchlGiR ~ ~ RchlGil( ~"cf>T"5rcfif4~cfi\~t I 
(c) ~<f>T~"ffiR.~wft~~ 

73. ~ I "cfiT ~II~~-~~~~ ~~~~~~~~~ 

~ ~ ~ ~ aj ~"cf>\ -~~~ : "cf>\~ Rc1f-.:lcti ~ wu Rc1fft:1a ~ t -1 

"f[!itl "f[!it11 (d) ~ ollTT!i, ~ ~ ~ # "CfG-lffiUT "cf>\ 

(Jt&J/9/d) (rFRT) ~ ~ , ~ "CfG ~ ~ ~ %g Rc1.f=q-1 

A. 1. dMci-11:§ 
~~i:mr~ I 

~ 

B. ~ 2. ~ 76. ~ ~ ~ ~ R1--1R-tfuia ~ # ~ 

C.· ~ 3. ~ ~-m ~ , ~ ~ ~ -tj;ft ~ 3N~ ~ t 

D. fetiR-t1< 4. mm Ffi tj8qitti~ ~ HUFIT ~ ~ ~ ~ ~ 

~"cfil~"cf,1;? 

~: (a) ~78 

A B C D (b) ~74 

(a) 3 2 4 1 (c) ~75 

(b) 3 4 2 1 (d) ~81 
(c) 1 4 2 3 . 
(d) 1 2 4 3 77. R1--1R-tfuia -~ # ~ ~-m ~ ~ -:,ff t ? 

,(a) ~ mcf>T( ~ ~ cfil4qlkfcfil cf>l4cll~4i 

74. RI--! R-t fui a # ~ ~ -m ~ , ~ -;fr;n >l'l-flcf <f>T ~~~~~~~~t I 
qi{o11xf1 -:,ff ~ ? (b) ~ cf>T ~ ~ ollTTli "cfiT ~ ~ 

ftj~c1cft4 c111tjscl14 qfh-i=q(o1 <f>T ~ 'll'!l.-414cll/:{l ~ ~ # ~ ~ t ~ 
(a) ~ 

~ ~ .-4141 ci 4 . <IT ~ ~ .-4141 ci 4 

(b) zja.:fur.~ o.q1q1f{cfi m cf>T ~ 'll'!lfllll( <f>T~~~~~m I 
~3ffi~ - (c) tj8q!{tj~ # ~ ~ ~ ~ ."fficf) ~ 

(c) mTR ~ ~ ~ -# diR4Mddl~ 
~ ¥f ~ ~ ~fnrm@ ~ ~ ~ m 
~I 

(d) -~ ~ l-TT;lt # "cfilft ~ cf,RUT mTR ·# (d) ~ <f>T ~ tj8q!{ti~ WU~~~ 
'l0k141 ~ -~ # "cf>lft ~ ~ · ~~ffim~~~t I 
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72. Ten Degree Channel is found between : 

73. 

(a) · North Andaman and Middle Andaman. 

(b) South Andaman and Little Andaman. 

(c) Little Andaman and Car Nicobar. 

(d) Car Nicobar and Great Nicobar. 

Match List I with List II and select the correct 

answer using the code given below the lists : 

List I 

(Waterfall) 

A. Barkana 

B. Dudhsagar 

C. Duduma 

·D. Kiliyur 

Code: 

A 

(a) 3 

(b) 3 

(c) 1 

(d) 1 

B 

2 

4 

4 

2 

C 

4 

2 

2 

4 

List II 

(State) 

1. Tamil Nadu 

2. Odisha 

3. Karnataka 

4. Goa 

D 

1 

1 

3 

3 

74. Which one of the following is not a resultant 

of the El Nino effect ? 

(a) Distortion of equatorial atmospheric 

circulation 

(b) Flow of the South-East Trade Winds 

towards the Indian Ocean 

(c) Irregularities in the evaporation of sea 

water 

(d) Reduction in the amount of planktons 

which reduces the number of fish in the 

sea 

75. According to the Constitution of India, which 

one of the following statements is not correct ? 

(a) The executive powers of the Union shall 
be vested in the President of India. 

(b) Parliament, by law, can confer functions 
on authorities other than the President 
of India. 

(c) 

(d) 

The President of India is elected by an 
electoral college consisting of all 
Members of Parliament and all 
Members of all State Legislatures. 

A person, having held office as the 
President, shall be eligible for election to 
that office for the second term. 

76. Which one of the following Articles of the 

Constitution of India requires the Prime 

Minister of India to furnish information 

related to decisions of the Council of Ministers 

to the President of India ? 

(a) Article 78 

(b) Article 7 4 

(c) Article 75 

( d) Article 81 

77. Which one of the following statements is not 
correct? 

(a) All executive actions of the Government 
of India are taken in the name of the 
President of India. 

(b) The President of India appoints a person 
as Attorney General of India provided 
she/he is qualified to be a Judge of the 
Supreme Court or a High Court. 

(c) The total number of Ministers in the 
Council of Ministers cannot exceed ten 
percent of the total number of members 
of the House of People. 

(d) The President oflndia is bound to act as 
per the advice t_1;,mdered by the Council of 
Ministers. 

GHSA-8-GNL ( 23 -A) 

Previous Pathshala



78. ~ '!W, 'fcf; ~ ~ ~ ~ ~ ,qm 377 81. 

'lTI«f ~ ~ ~ ~ 21, 14 ~ 15 cnT 

3('{11:H W ~', Pt1---1@Rsict if~ fcfiB ~ ~ 1l 
f.tuffu~~m? 

. (a) wn ~ ~ 'lTI«f ~ 

(b) f4~11€11 ~ mR ~ 

(c) WRT ~ ~ 'lTI«f ~ 

(d) ~ q,13 .. ~~H ~ ~ u$ ~ 
1${~~~ 

79. f..lqlf:IRs,a 1l ~ ~-~ ~ ftc: cnr ~ ~ ·_ 

'~"lfR-f~~'? 

f..lqlf:IRs,a ~ ~ fcf.m: ~ :_ 
1. 19cff ~ ll, ~ m«r ~ ~ mm 

1l Bllt_<hll{ ~ ~ cxllqlft:41 ~ ~ 
~ cl>\ "33 I 

2. ~ 1s1s ll, ~~lll.ffl~~~ 
"l'fi'q. ll, ~ ~ ~cf>H~lii ~ W@ ~' 
artt&rft~~,~~~~m 
~ Bllt_<hlU ~"Q"Ull ~~~ I 

~~ll~~-m~~~~~ - ? 
(a) -m 1 

(b) ~ 2 

(c) 1~2~ 

(d) ";f "ffi 1, ~ ~ 2 

(a) ~~ 

(b) ~ 
82. · f..l~@Rsict 1l ~ ~-m ~, ct>lfl~ ~ ~ ~ 
~ ~ cnT -;wf ~ . 2IT ? 

(c) B~f47(1{l 

(d) <fqlqTW 

1. f¾@cl'i w 
2. ~~~ 

3. f¾@cl'i cJTi 

4. ~~ 

~~~~cnlfflcfi\~"dW~: 

(a) -m 1 3fu:_ 2 

(b) -m 1~ 3 

(c) -m 1,2~ 3 

Cd) -m 2,3~ 4 

GHSA-8-GNL 

(a) ~ 

(b) ~ 

(c) ~ 

(d) ~ 

83. ~ 1l ~ ~ m ~ ~ 1l f..lqlf:IRs,a 

~~fcf.m:~ =-

( 24-A) 

1. (ifut-1~~ ~ ~ ~ FflT@T mTR 

~~~ll~~~ 
cnT~>l'lfJUT~~ I 

2. ~ ~l(?ll<.1©-I ~ 1l ~ ~ m 
1l di cfif'i I<( ~ ~ cnT >l'lfJUT ~ ~ I 

~ ~ 1l ~-~-mro ~ ~ ~~? 
(a) -m 1 

(b) -m 2 

(c) 1~2~ 

(d) ~ <IT 1, ~ ~ 2 
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78. The issue, 'whether Section 377 of-the Indian 81. Consider the following statements : 

Penal Code is violative of Articles 21, 14 and 

15 of the Constitution of India' was decided in 

which one of the following cases? 

(a) Shreya Singhal vs. Union of India 

(b) Vishakha vs. State of Rajasthan 

(c) Shayara Bano vs. Union of India 

(d) Naz Foundation vs. Government of NCT 

of Delhi and others 

79. Which one of the following writs means 'you 
·may have the body' ? 

(a) Habeas Corpus 

(b) Mandamus 

(c) Certiorari 

(d) Quo Warranto 

80. Who among the following belonged to 

Serampore Mission ? 

1. William Carey 

2. 

3. 

Joshua Marshman 

William Ward 

4. David Hare 

Select the correct answer using the code given 

below: 

(a) 1 an,d 2 only 

(b) 1 and 3 only 

(c) 1, 2 and 3 only 

(d) 2, 3 and 4 only 

1. In the 19th century, peasants in various 
parts of India rose in revolt against 
moneylenders and grain dealers. 

2. In M;ay 1875, at village Supa in Poona 
District in the Bombay Deccan, peasants 
attacked shopkeepers, burnt the bahi 
khatas (account books), looted grain 
shops and set fire to the houses of 
Sahukars. 

Which of the statements given above is/are 
correct? 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

82. Which one of the following was not a part of 
Kautilya's Saptanga Theory of the State ? 

(a) Amatya 

(b) Janapada 

(c) Durga 

(d) Dhamma 

83. Consider the following statements about 
Ashoka's faith in Buddhism : 

1. Rummindei Pillar Inscription and Nigali 
Sagar Pillar Inscription provide clear 
evidence of Ashoka's faith in Buddhism. 

2. Minor Rock Edict-I gives evidence of a 
sudden change in Ashoka's faith in 
Buddhism. 

Which of the statements given above is/are 
correct? 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 
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84. ZiH~&ll f9<1filii if Rl-.f@Rsld if~ ~-mro 'q"( 87. 

~~~t~? 
1lT3c ~m (642 m ) ~ 3fu: Rcf,lGII( 

~qe'l~ cfiT ~ l.l~fc:l~f "9'c@ ~ t I ~ ~ 
~ t? 

85. 

1. ~-cflT 
2. IB1T ~ -(~ 3fu: "f;ll) 

~~1w;~cfilfflcfi\~"3W~: 

(a) ~ 1 

(b) ~2 

(c) 13fu:2~ 

(d) -;r m 1, -;r ~ 2 

~Iq;t~II~~~3fu:~~ 

~~1w;~cfilfflcfi\~"3W~ : 

~I ~II 

(~) (~) 
A. cfi@~i:-ft 1. ~Fctct,1.1 

B. ©1~41( 2. ~ 
C. ~~ 3. f%1.11-c1a ~ 

D. ~'-~Hl:S 4. a(?ia-113 

~: 

A B C D 

(a) 2 1 3 4 

(b ) 2 3 1 4 

(c) 4 1 3 2 

(d) 4 3 1 2 

. 86. ~1-.f@f©a -ij ~ ~-m ~ ~ ~ ('fJWT) m 
cfiT ~ ll~fc:l~f ~ t ? 

(a) ~~~~ 

(b) '51ffi~ll-t-l ~ (~ IBs)'cfiT ~ 

(c) ~~~~~~ 

(d) ~~~~~~~~~ 
~-q~~ 

(a) ~~-q 

(b) lfaf ~-q 

(c) ~~-q 

(d) m. Rch"IGII( -q 

88.· f..i~R-!Rsa ~~~~ ~-ij~~. 

t? 
(a) f%1.11'601R,a -qcfa-

(b ) ~ ~ ~ ~ 

(c) ~~ 

(d) . . ~ cl"-l" 

. 

89. Rl-.f@Rsa -q ~ ~-m ~ ~, ~ \ft o4"@i 

~~~~mfuf~m1~'~ 
~ q;) f..i~fqa ~ t ? 

· (a) ~ ~ (Autrefois acquit) 

(b) ef;r ~ R ~ (Non bis in idem) 

(c) ~ chRtfc (Autrefois convict) 

(d) ~ 3llffi1T wffer (Audi Alteram Partem) 

90. "fficf> ~ ~a.,~ Gfit -ij . Rl-.f@f©a if~ ~-m 

~~~ -;rttt? 

.(a) "fficf> ~ cfiT ~ ";f ~ ~ ~ ~ ~ 
cfi\ ~ I 

(b) ~ , ~ \ft ~, m«f ~ .(16s;qffi q;) 

~--q;r ~ cfi\ ~ ~ cfi\ ~ t I 

(c) "3B ~ ~ w:ft ~ ~ ~ ·~ ~ 
"Cllfuf"fficf>~~~wu~~~ 
~~~t I 

(d) "fficf> ~ ~a., cfiT ~ ~ ® ~, ~ 
~ ~ ffi fficfi ~ ~a., WU ~ 
~I 
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84. Which of the following variable(s) is/are 87. Mount Thullier (642 m) is an important 

85. 

86. 

displayed in population pyramids ? mountain peak of Andaman and Nicobar 

Age-groups 1. 

2. Sex indicators (male and female) 

Select the correct answer using the code given 
below: 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d)- Neither 1 nor 2 

Match List I with List II and select the corr~ct 

answer using the code given below the lists : 

List I List II 
(Lake) (State) 

A. Kaliveli 1. Sikkim 

B. Khaijiar 2. Kerala 

C. Khecheopalri 3. Himachal Pradesh 

D. Vembanad 4. TamilNadu 

Code: 

A B C D 

(a) 2 1 3 4 

(b) 2 3 1 4 

(c) 4 1 3 2 

(d) 4 3 1 2 . 

Which one of following is the most important 

factor for the formulation of smog ? 

(a) Long winter nights 

(b) Formation of an 'inversion lid' 

(c) Presence of many air pollutant resources 

(d) Rapid fall in temperature with 
increasing height above the sea level 

Islands. It is located in : 

(a) · North Andaman 

(b) Middle Andaman 

(c) _South Andaman 

(d) Great Nicobar 

88. Which one of the following land surfaces has 
the highest albedo ? 

(a) A snow covered mountain 

(b) A barren rocky piedmont surface 

(c) A sandy desert 

(d) A mangrove forest 

89. Which one of the following terms represents 
the maxim, 'no man/person shall be 
condemned unheard' ? 

(a) Autrefois acquit 

(b) Non bis in idem 

(c) Autrefois convict 

(d) Aud'i Alteram Partem 

90. Which one of the following statements about 
the Speaker of Lok Sabha is not correct ? 

(a) He shall vacate his office if he ceases to 
be a member of the House of the People. 

(b) He may, at any time, resign by writing 
his resignation to the President of India. 

(c) He may be removed from his office by a 
resolution of the House of the People . 
passed by majority of all the then 
members of the House. 

(d) While the office of the Speaker is vacant, 
the duties of the office shall be 
performed by the Deputy Speaker. 
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91. 'qffif ~ ~ # UWH t! -M ~ ~ 94. 

~ # R'--i@f©a ~ # B ~ -m ~ ~ 
~% ? 

<a) ~ 'qffif ~ ~ ~ ~ 368(2) wu 
~mcfl % i' 

(b) 'qffif ~ ~ # ~-~ qffiT ~ 

-~ fi ~ ~- ~ ~ ~ ~ 

3TT~~~~% I 

(c) ~fcrm;J~'llmf~~~~ 
· . 95 

~ ~ ~ <Jr ~ cfiT Jqsf,iJUI ~ ' 

~~I 

(d) 'qffif~~#~t!~#~ 
~~:~~~~'qffif~ 
~~~~~~% I 

92. 'qffif ~ ~ ~ ~ ~ # R'--i@f©a 

q-&@4"i # B ~ ~ ~ ~ ~ ~ % ? 

(a) · ~ 3-lljql@cfi ~ 

(b) ~ 'Cfi'R-~-C::-'ITTR ~ 

(c) ~ljql@cfi ~ 3:rR ~ zjst,iion;q 

l@~ 

(d) ~ ljq l@cfi ~ 3:rR 'Cfi'R-~ -C::-'ITTR 
~ 

g@ii:i'i ~ ~ 1!~ Rc:1f'i:lcti ~ ~ ~ 
~ ~4Pl<JT WT ? . 

<a) l!ffi-~ WITT, 1909 

(b) ~~41i)g WITT, 1919 

(c) fliSl~lf4cfi ~, 1932 

.,(d) 'qffif mcfiR ~ , 1935 

R'--i@f©a # B ~ ~' 1928 # ~ 
ffis,f<IH l-!l~l@R f{q~cfi-l 3l1l:ff ~~ ~~lqcfi 

~ WT!W? 

1. W@'~ 

~~~~cfilffl~@~~: 

(a) ~t 

(b ) ~ 23:rR 3 

(c) ~ 1, 2.3:rR 3 

(d) 1, 2, 3 3fu: 4 

93. R'--i@f©a ii~1sit.:iq~ # B, TfTITl8el (~) 'chT 96. R'--i@f©a it B ~ '~qf{c:1ci.:ic11R4T ~ ~ B 

9~'i:llRQ_ : ~ ~ WT ? 

(a) ll1'f'q 
(a) 'C!_11. "(!_. ~ 

(b ) ~ 
(b ) ~~ 

(c) ~ 
(c) 'i:lshc:ldf (1'11 1nq I~ l'i:l 1{) 

(d) qffiIB '(d) ~"{TTT~ 
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91. · Which one of tlie following statements about a 94. The provision for separate electorate for 

Bill for Amendment of the Constitution of Muslims was given in 

India is not correct ? 

(a) It is governed by Article 368(2) of the 

.Constitution of India. 

(b) . Joi~t sitting · can be resorted to for 

passing a Bill amending the 

Constitution of India. 

(a) Mo_rley-Minto Reforms, 1909 

(b) Montagu-Chelmsford Reforms, 1919 

(c) Communal Award, 1932 

(d) Government of India Act, 1935 

(c) The State Legislatures cann_ot initiate 

any Bill or proposal for amendment of ·. 

h C 
. . f 

I 
d" 95. Which of the following was/were the founder 

t e onstitution o n 1a. 
member(s) of Hindustan Socialist Republican 

Army established in September, 1928? (d) The previous sanction of the President of 

India is not required for introducing any 

Bill -in the Parliament for amendment of 

the Constitution of India. 

92. Which one of the following methods is followed 

in electing the President of India ? 

(a) Proportional Representation only 

(b) First-Past-the-Post System only 

(c) Proportional Representation and the 

Single Transferable Vote System 

(d) Proportional Representation and the 

First-Past-the-Post System 

F ~ 
93. rom among the follow-mg Mahajanapadas, 

identify the gana I sang ha (oligarchy) : 

(a) Magadha 

(b) Vajji 

(c) Avanti 

(d) Kosala 
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1. Bhagat Singh 

2. J atindranath 

.3. Ajoy Ghosh 

4. Phanindranath Ghosh 

Select the c;orrect answer using the code given 

below: 

. (a) 1 only 

(b) 2 and 3 only 

· (c) 1, 2_and 3 only 

(d) 1,2,3and4 

Who among the following did not belong to the 

group of 'No-Changers' ? 

(a) M.A.Ansari 

(b) Vithalbhai Patel 

(c) Chakravarti Rajagopalachari 

(d) Kasturi Ranga Iyengar 
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(a) w-J %iRH4> 1 

(b) ~ Rl~c1R1~1ci?.1 

(c) ~ -

(d) Cfct)fl:sl 

101. ~ ~ #, ~'iltjl<l # ~ ~ ~ 'cf@T "9G -
'-ey-~ ~~-~ ~ . ~ ~ ~ t? 
(a) 3lTffif ~#~~wan 
(b) ~<Hi~4 ~ ~ cia fttrri ~ 
(c) ~ ~ ~ cfi\ 

Cd) ~a<f~4 ~ ~ ~ cn1 f.rcITTuT 

102. ~ ~ crfffcflR ~ Ri:.ik!fula ~ tn: fcpm: 

98. ~--q;r ~ ~ cn1 Ri:.ik!fula 

~-m~~~~~t? 

# ~ ~: . 

'81/Tr:IT(- 7/;f 

(a) .Jcf-.:ri1cf.J 

(b ) ~ 

(c) ~ 

(d) ~~~ 

~ 

~TTTtfi 

~1T1Tlm~ 

§{.:S::.JI~ ~ . 

1Til:f@¥11T~ 

1. ,i)~cttft.J ~ UlNHcfi-~ 

~ 

mRNA~ 

~ UllcflE\cfi-~ 

~ 

~ # -~ ~-mffi ~ ~ ~ t~? 
(a) -m 1 
(b) -m 2~ 3 
(c) -m 1~ 3 

99. Ri:.ik!fula # ~ ~-m ~, ~ ~Jl,;,icl) cla Cd) 1, 2 ~ 3 

~ ~ ~ ~ ~ ~ ~ # ~ 103. ~ ~ ~Altjlif # 3fh.tfula '18ctiT.:i 

(b) ~ 3R ~ ~ m2T ~A~i:11 cflG ~ ~ 
#~~~~~2TT I 

(c) ~ ~ ~~ #, ~ ~ ~ ~-zyf 

~WT~ I 

cfiPvft' ~ t ? 

(a) ~ $ 1 ~k14.J ~ ~ ~ cm-ft ~ 
"Rii-~~ 

Cb) M 3R ~ m ~ # fc@R ~ 
cm-ft~~ m ~ 

(c) mcJ '3oR cm-ft~~ fcllµjfcf cm-ft M 
~ cnT R'5ftcfi{OI 

Cd) ·mur # M ~ ~ ~ ~ ~ . 
ocJ1tm: ~cm-ft~~-ijj§,{1~4 ~ 

(d) ~ cfiT ~ ~ ~-zyf ~ {©{@cf ~ 104. ~IAl--4i:141 '30 x 30 ~5?i ~ ~ # ~ ~ 

~ ~ ~ cfi\R ~ I =: ~ ~ :;<1 !:: ~ ~ 

(d) Sll<!i@cfi ~ # ~~ 
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~ ~ .Sl@Rl~a ~ t ? 

(a) 'cfill-~-'cfill 30% ~ cfiT 2030 'ct'cfi ~ 
~~I 

(b ) 'cfill-~ -'cfill 30% . ~ ~ 'ifiT 2030 'ct'cfi 
~~~~~~~ I 

(c) 'cfill-~-'cfill 30% ~ -&ilcf~llcfii:11 cfiT 2030 
'ct'cfi .icftcf>{Uft4 mer ~ ~ ~ ~ ~ 1 

(d) ~ 00 ~ ~ ~ 'cfill-~-'cfill 30% m7TT 
cfiT, 2030 'ct'cfi ~ ~ ~ ~ ~ ~ 
~ I 
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. 97. The headquarters of Ghadar Movement/Party 101. Recently, the term 'two-pillar 

98. 

99. 

were at solution/two-pillar package' often seen in the 

(a) San Francisco 

(b) Stanford University 

(c) Portland 

(d) Florida 

Which one of the following pairs of Newspaper 

and Editor is not correctly matched ? 

Newspaper Editor 

' (a) N avjivan 

(b) Mahratta 

(c) Bengalee 

(d) Voice oflndia 

Mahatma Gandhi 

Bal Gangadhar Tilak 

Surendranath Banerjea 

Gopal Krishna Gokhale 

news, refers to · 
(a) Global energy security in near future 
(b) International cyber crime reporting 
(c) Minimum global corporate tax 
(d) Prevention of international money 

laundering 

102. Consider the following pairs of vaccine and 
category/type : 
1. Covaxin Inactivated pathogen-based 

vaccine 
2. Covishield · mRNA vaccine 
3. Sputnik V Viral vector-based yaccine 

Which of the pairs given above is/are correctly 
matched? 
(a) 1 only 
(b) 2 and 3 only 
(c) 1 and 3 only 
(d) 1, 2 and 3 

Which one of the following was not included in 103. What is 'Unicorn Company' often mentioned in 
the terms and. conditions of Subsidiary Indian news? · 
Alliance System of Lord Wellesley ? (a) Any privately held startup company 

(a) The British would protect their ally. 

(b) The ally was free to enter into 

agreements with other rulers or engage 

in warfare. 

(c) In the territory of the ally, a British 

armed contingent would be stationed. 

with a value of over $ 1 billion 
(b) Any public sector ·company to be merged 

with another public sector company 
(c) Privatization of any loss-making 

State-owned company 
(d) Any foreign multinational company . 

doing business in India in collaboration 
with an Indian company 

104. A global initiative popularly known as 
(d) The ally would have to provide resources ,30 x 30 target' is often seen in the news. 

for the maintenance of the British Which one of the following statements best 
armed contingent. reflects this initiative? 

(a) At least 30% of the planet should be 
protected by 2030. 

100. Which one of the following is an exhaustible (b) At least 30% of . the cultivated area 
but renewable natural resource ? 

(a) Solar energy 

(b) Water in usable condition 

(c) Soil 

(d) Landscape in its natural condition 
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should be brought under organic 
farming by 2030. 

(c) At least 30% of the energy requirements 
should be met by renewable sources by 
2030. 

(d) At least 30% of the people below poverty 
line should be brought out of their 
poverty by 2030. 
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105. Ri:.i@furn ~ # "B ~-m ~ LOFAR (f.:n:=J 109. ~ ~ #, ~ ~ Ri:.i@futa ~ # "B ~ ~ 
~ ~) ~ ~ # ~ t ? - ~ "IDW ~ 6 ~ AK-203 ~ aHH ~ ~ 
(a) ~ ~ cfiT ~ ~1Rt,~11cll ~ ~ ~-qi:~~~ ? 

t1 . 
(b) ~ ~ <fit ~ ~ ~ NASA ~ 

51i:i1Rla 3ffifta.:i- sn~1fr1ch) t I 

( c) ~ ~ Rcf,:l I ('H ~ f.riifu ffl ~ 

(a) ~ 

(b) ~ 

(c) >fim 

~ "B ~a.i #~<fit ~ t I (d) $':ll(lc.«-1 

Cd) ~ 5G ~3TT ~ ~ ~ rn sny,fr1ch1 110. ~ 2021 ~, Ri:.iR-ifuta q "B ~ , ~ ~ 
t I . ~ ~ ~ crT /<fit ~ ~ /Gf.fi ? . 

106. ~ ~ # GR ~ ~ ~ #, m ~ -qi: 

~-~~~~#~ "GfTm t, ~ ~ 
~ Rl--l@Rsld q "B ~-"B 3FJ ~ ~ ? 

(a) - ~ , ~~~:t]SA 

(b) $':ll(lc.«-1, UAE ~ USA 

(c) ~ ' UAE ~ UK 

(d) $':ll(lc.«-1 , ~~~UK 

107. ~ ~ # ~l'il'i:110 # 3H-1Rsld . ~ ~ ~ 
m'~~q;m~? 
(a) ~ f?i~I$~ 

(b) ~ fi-~ q.:i3~4j 

(c) ~ ~ J.IOll@4i 

(d) ~¥-, 

108 . . Rl--l@Rsld ~ # "B ~-mro ~ ,~ ? 

(a) . 3M~ 
(b) ~1~-11 ~.q(iill<h 

(c) ~~ 

(d) ~ gR!Q;R-1 

111. Rl--l@Rsld ~ # "B ~-mro ~ ,~ ? 

1. .flaqfu1 ~ ~ 5~ ~ ~ 
~~, 

2. ~~5~~~~~1 

~~~~cfilffl"ch(~"3W~: 

(a) ~ 1 

(b ) ~2 

(c) 1~2~ 

1. /~~ 1971~ cililcil~~I ~~"B~~ 112. 3lf.@ ~ ~ ~ -q Rl--l@Rsld ~ -q "B 
cililcil~~I ~lfr.<@T~"ch(~~ I ~ -"ID~~,? 

2. lITi'f 2021 #, ~ ~ iili 1a1~~1 ~ ~ 
6 ~ "chT ~ ~ ~ ~ # lR'R cfiT 

f.:i'umIB<TTml 
~ ~ ~ ~ cfiT m "ch(~ "3W .~ = 

(a) ~ 1 

(b ) ~2 

(c) 1~-2~ 

(d) "-1" "<11 1, "-1" ~ 2. 
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-Ca) ~ ~ ~;,rlR4< ~ ~ ~ ~ # 
sniRt~I 

(b) ~ UN ~-l:8:lcfi ~ # ~ ~ ~ 
(lsJt-lf4<h ~ I 

(c) ~ 3ffifta.=J-~ ~ ~ ~ ~ NASA 

~ ~ ~ Rlfchct-1cn ~ I 

(d) ~~"RR~-futa14) ~ I 
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105. Which one of the following statements is 
correct regarding LOFAR (Low Frequency 
Arrar)? 
(a) It is the world's most powerful radio 

antenna. 

(b) 

(c) 

It is a space technology launched by 
NASA to discover exoplanets. 

It is ·an arrangement of satellites in 
space for the purpose of creating 
Satellite Navigation System. 

109. Recently India signed a contract for the 
manufacture of nearly 6 lakh AK-203 rifles 
with which one of the following countries ? 

(a) Canada 

(b) Russia 

(c) France 

(d) Israel 

(d) It is a wireless communication 110. In December 2021, who among the following 
technology for 5G services. succeeded Angela Merkel as the Chancellor of 

Germany? 

106. In the recently formed grouping of countries 
generally known as 'Middle-East Quad', in 
addition. to India, which of .the following are 
other members ? 

(a) Egypt, Saudi Arabia and USA 

(b) Israel, UAE and USA 

(c) Egypt, UAE and UK 

(d) Israel, Saudi Arabia and UK 

107. The terms 'Pina~a and Smerch' mentioned in 
news recently refer to 

(a) Cruise missiles 

(b) Nuclear-powered submarines 

(c) Rocket launcher systems 

(d) Weaponised drones 

108. Which of the following statements is/are 
correct? 

1. 

2. 

India had accorded recognition to 
Bangladesh even before the liberation of 
Bangladesh in 1971. 

In March 2021, both India and 
Bangladesh had decided to celebrate 
6 December as Maitri Diwas. 

Select the correct answer using the code given 
below: 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

Cd) Neither 1 nor 2 

(a) Olaf Scholz 

(b) Annalena Baerbock 

(c) Armin Laschet 

(d) Jana Puglierin 

111. Which ·of the following statements is/are 
correct? 

1. Nilamoni Phukan Jr. is · the 

56th Jnanpith Award winner. 

2. Damodar Mauzo is the 57th Jnanpith 
Award winner. 

Select the correct answer using the code given 
below: 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

112. Which one of the following statements about 
Anil Menon is correct ? 

(a) He is an engineer who revolutionised 
organic farming. 

(b) He is a diplomat selected m a UN 
Peace-Keeping mission. 

(c) He is a physician selected by NASA to be 
an astronaut. 

(d) He is a star football player. 
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113. India's maiden human space mission will be 117. Who among the following won the FIDE World 
launched in 2023. What is its name ? Chess Championship, 2021 ? 

(a) · Vayumitra 

(b) Vikram 

(c) Chandrayaan-3 

(d) Gaganyaan 

114. Which one of the following teams won the 
Senior Women's National Football 
Championship, 2021? 

(a) Manipur 

(b) Railways 

(c) West Bengal 

(d) Odisha 

115. Which of the following about Khijadiya Bird 
Sanctuary is/are correct? 

1. It is recently declared as a Ramsar Site 

(wetlands of international importance) 

2. It is located in Uttar Pradesh 

Select the correct answer using the . code given 

below: 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

116. Which one among the following countries has 
announced a plan that sets a goal of having 
fewer than 5% of its populace · smoking by 
2025? 

(a) England 

(b) Germany 

(c) New Zealand 

(d) Russia 

(a) N epomniachtchi 

(b) Magnus Carlsen 

(c) DingLiren 

(d) AnishGiri 

118. With reference to Bhindawas Wildlife 
Sanctuary, Sultanpur National Park, Thol 
Lake Wildlife Sanctuary and Wadhwana 
Wetland, which of the following statements 
is/are correct? 

119. 

120. 

1. All of them are Ramsar sites. 

2. All of them are naturally formed wetlands. 

3 . . All of them are birding sites. 

Select the correct answer using the code given 
below : 

(a) 1 only 

(b) 1 and 3 only 

(c) 2 and 3 only 

(d) 1, 2 and 3 

To study which one of the following was a 
spacecraft launched that would be farthest 
from the· Sun and would run exclusively on 
solar power ? 

(a) Jupiter's Trojan asteroids 

(b) Saturn's rings and moons 

(c) Mars' atmosphere 

(d) Kuiper Belt and Oort Cloud 

Recently, archaeological studies at which one 
among the following revealed that by 
1200 BCE there was a flourishing agrarian 
civilization and the cultivation of rice was 
well-established at this place ? 

(a) Raichur Doab 

(b) Krishna Delta 

(c) Vicinity ofVamsadhara river 

(d) Vicinity ofThamirabarani river 
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